Pre-Calculus Name: ) /
Mid-Chapter Review (plus some) Date: Period:

1. Convert between degrees and radians or vice versa.
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3. If cscx = 4, the other 5 trig values.
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5. Graph each function.

X

y=1+4cot(2+g> M f(x)=35ec(2x+37n)+2
Sl
f(x)=—2+3csc(z+§8£> L%@{ y=%tan<4x+4?n)—1

W%V\Jb_(x /T‘"/zﬁl

6. Write the equation of the graph. I
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7. Solve. Pay attention to the given domain.

a) sinx = —0.56; 0<x<2m b) cosx =0.9832; 0<x<m
) tanx=-22; 0<x<-7 d) cosx =-01161; —Z<x <=
! 2= 2
8. Solve.
a) —2sin3x—7 = —6.2 b) 6cosm(x +11) +0.5 = 3.7
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